
■ 左の数と上の数をかける4ます計算を使って、かけ算の答えを求めましょう。

① 32 × 65

32

65

30

2

60 5

32 × 65 ＝

A.30×60 B.30×5

C.2×60 D.2×5

A＋B＋C＋D

② 96 × 47

96

47

90

6

40 7

96 × 47 ＝

A.90×40 B.90×7

C.6×40 D.6×7

A＋B＋C＋D

③ 12 × 38

12

38

10

2

30 8

12 × 38 ＝

A.10×30 B.10×8

C.2×30 D.2×8

A＋B＋C＋D

④ 94 × 82

94

82

90

4

80 2

94 × 82 ＝

A.90×80 B.90×2

C.4×80 D.4×2

A＋B＋C＋D

⑤ 49 × 33

49

33

40

9

30 3

49 × 33 ＝

A.40×30 B.40×3

C.9×30 D.9×3

A＋B＋C＋D

⑥ 18 × 79

18

79

10

8

70 9

18 × 79 ＝

A.10×70 B.10×9

C.8×70 D.8×9

A＋B＋C＋D

⑦ 62 × 47

62

47

60

2

40 7

62 × 47 ＝

A.60×40 B.60×7

C.2×40 D.2×7

A＋B＋C＋D

⑧ 79 × 99

79

99

70

9

90 9

79 × 99 ＝

A.70×90 B.70×9

C.9×90 D.9×9

A＋B＋C＋D

⑨ 12 × 12

12

12

10

2

10 2

12 × 12 ＝

A.10×10 B.10×2

C.2×10 D.2×2

A＋B＋C＋D

⑩ 75 × 78

75

78

70

5

70 8

75 × 78 ＝

A.70×70 B.70×8

C.5×70 D.5×8

A＋B＋C＋D

⑪ 15 × 29

15

29

10

5

20 9

15 × 29 ＝

A.10×20 B.10×9

C.5×20 D.5×9

A＋B＋C＋D

⑫ 25 × 65

25

65

20

5

60 5

25 × 65 ＝

A.20×60 B.20×5

C.5×60 D.5×5

A＋B＋C＋D
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■ 左の数と上の数をかける4ます計算を使って、かけ算の答えを求めましょう。

① 32 × 65

32

65

30

2

60 5

32 × 65 ＝

A.30×60 B.30×5

C.2×60 D.2×5

A＋B＋C＋D

2080

1800 150

120 10

② 96 × 47

96

47

90

6

40 7

96 × 47 ＝

A.90×40 B.90×7

C.6×40 D.6×7

A＋B＋C＋D

4512

3600 630

240 42

③ 12 × 38

12

38

10

2

30 8

12 × 38 ＝

A.10×30 B.10×8

C.2×30 D.2×8

A＋B＋C＋D

456

300 80

60 16

④ 94 × 82

94

82

90

4

80 2

94 × 82 ＝

A.90×80 B.90×2

C.4×80 D.4×2

A＋B＋C＋D

7708

7200 180

320 8

⑤ 49 × 33

49

33

40

9

30 3

49 × 33 ＝

A.40×30 B.40×3

C.9×30 D.9×3

A＋B＋C＋D

1617

1200 120

270 27

⑥ 18 × 79

18

79

10

8

70 9

18 × 79 ＝

A.10×70 B.10×9

C.8×70 D.8×9

A＋B＋C＋D

1422

700 90

560 72

⑦ 62 × 47

62

47

60

2

40 7

62 × 47 ＝

A.60×40 B.60×7

C.2×40 D.2×7

A＋B＋C＋D

2914

2400 420

80 14

⑧ 79 × 99

79

99

70

9

90 9

79 × 99 ＝

A.70×90 B.70×9

C.9×90 D.9×9

A＋B＋C＋D

7821

6300 630

810 81

⑨ 12 × 12

12

12

10

2

10 2

12 × 12 ＝

A.10×10 B.10×2

C.2×10 D.2×2

A＋B＋C＋D

144

100 20

20 4

⑩ 75 × 78

75

78

70

5

70 8

75 × 78 ＝

A.70×70 B.70×8

C.5×70 D.5×8

A＋B＋C＋D

5850

4900 560

350 40

⑪ 15 × 29

15

29

10

5

20 9

15 × 29 ＝

A.10×20 B.10×9

C.5×20 D.5×9

A＋B＋C＋D

435

200 90

100 45

⑫ 25 × 65

25

65

20

5

60 5

25 × 65 ＝

A.20×60 B.20×5

C.5×60 D.5×5

A＋B＋C＋D

1625

1200 100

300 25

かけ算
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